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1.	Nolan does not spend any more money so he still has $45.50 in his account.  He saves another $35.50, goes to the bank and puts that in the account for a total of $81.  He then saves another $19 and goes to the bank and puts that in the account for a total of $100.  In order to save trips to the bank, he could have added together the $35.50 and $19 for a total of $54.50, then gone to the bank and added that to the $45.50 for a total of $100.  What property of addition is being represented by this situation?  Explain.




2.	Nolan needed to repair his car and had to borrow money from his parents to pay for it.  He owes his parents $335. So his net worth currently is -335.  If he pays his parents $300 after his next paycheck, his net worth will be -$35 (he owes them $35).  Conversely, if Nolan has $300 in the bank and then must pay $335 for repairs his net worth will also be -$35.  What property of addition is being represented by this situation?  Explain.




3.	Nolan and his five friends are planning a 3-day ski trip.  The cost of a one-day lift ticket is $52 per person.  Use the Associative Property of Multiplication to show different ways in which they could determine the total cost of the tickets.  Explain each way.




4.	Nolan finally saves up enough money for his snowboard.  It costs $1,235.  If he is only going to buy one snowboard, then it will cost him $1,235.  What identity is being used in this situation?  Explain.
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